Contract No:DH00568

WBS No:BP8.R009.3

County:Chatham

Replacement of Bridge No. 252 over Blood Run Creek on SR 1127 (Wrenn Smith Road)

		SANFORD CONTRACTORS INC		NTD ACTODS INC	DELLIN		
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	IGER INC AMOUNT BID
1	MOBILIZATION	1	LS	\$49,050.00	\$49,050.00	\$51,500.00	\$51,500.00
2	GRADING	1	LS	\$110,226.00	\$110,226.00	\$75,000.00	\$75,000.00
3	SUPPLEMENTARY CLEARING & GRUBBING	1	ACR	\$0.01	\$0.01	\$1.00	\$1.00
4	UNDERCUT EXCAVATION	25	CY	\$56.00	\$1,400.00	\$12.00	\$300.00
5	DRAINAGE DITCH EXCAVATION	220	CY	\$0.01	\$2.20	\$13.00	\$2,860.00
6	SELECT GRANULAR MATERIAL	25	CY	\$50.93	\$1,273.25	\$40.00	\$1,000.00
7	GEOTEXTILE FOR SOIL STABILIZATION	25	SY	\$6.42	\$160.50	\$3.80	\$95.00
8	TYPE 1 BRIDGE APPROACH FILL, STA. 17+20.00 -L-	1	LS	\$22,838.21	\$22,838.21	\$11,000.00	\$11,000.00
9	FOUNDATION CONDITIONING MATERIAL, MINOR STRUCTURES	10	TON	\$31.33	\$313.30	\$37.50	\$375.00
10	FOUNDATION CONDITIONING GEOTEXTILE	30	SY	\$3.75	\$112.50	\$4.80	\$144.00
11	15" DRAINAGE PIPE	24	LF	\$13.54	\$324.96	\$65.00	\$1,560.00
12	15" SIDE DRAINAGE PIPE	36	LF	\$15.04	\$541.44	\$65.00	\$2,340.00
13	15" HDPE PIPE CULVERT	16	LF	\$16.92	\$270.72	\$65.00	\$1,040.00
14	PIPE REMOVAL	22	LF	\$5.00	\$110.00	\$12.00	\$264.00
15	CLASS IV SUBGRADE STABILIZATION	25	TON	\$24.83	\$620.75	\$30.00	\$750.00
16	INCIDENTAL STONE BASE	10	TON	\$24.83	\$248.30	\$30.00	\$300.00
17	INCIDENTAL MILLING	150	SY	\$30.00	\$4,500.00	\$29.68	\$4,452.00
18	ASPHALT CONC BASE COURSE, TYPE B25.0C	215	TON	\$135.00	\$29,025.00	\$125.00	\$26,875.00
19	ASPHALT CONC INTERMEDIATE COURSE, TYPE I19.0C	210	TON	\$120.00	\$25,200.00	\$125.00	\$26,250.00
20	ASPHALT CONC SURFACE COURSE, TYPE \$9.5B	165	TON	\$130.00	\$21,450.00	\$170.00	\$28,050.00
21	ASPHALT BINDER FOR PLANT MIX	35	TON	\$525.00	\$18,375.00	\$700.00	\$24,500.00
22	ASPHALT PLANT MIX, PAVEMENT REPAIR	5	TON	\$300.00	\$1,500.00	\$212.03	\$1,060.15
23	RIGHT-OF-WAY MARKERS	11	EA	\$107.00	\$1,177.00	\$350.00	\$3,850.00

				SANFORD CON	JTRACTORS INC	DELLIN	GER INC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
24	MASONRY DRAINAGE STRUCTURES	2	EA	\$1,899.25	\$3,798.50	\$3,500.00	\$7,000.00
25	MASONRY DRAINAGE STRUCTURES	1	LF	\$535.00	\$267.50	\$1,200.00	\$600.00
26	FRAME AND GRATES, STD 840.29	2	EA	\$588.50	\$1,177.00	\$1,250.00	\$2,500.00
27	SHOULDER BERM GUTTER	65	LF	\$31.74	\$2,063.10	\$44.35	\$2,882.75
28	STEEL BEAM GUARDRAIL	100	LF	\$24.00	\$2,400.00	\$24.00	\$2,400.00
29	ADDITIONAL GUARDRAIL POSTS	5	EA	\$11.00	\$55.00	\$50.00	\$250.00
30	GUARDRAIL ANCHOR UNITS, TYPE III	4	EA	\$2,200.00	\$8,800.00	\$2,350.00	\$9,400.00
31	GUARDRAIL END UNITS, TYPE TL-3	4	EA	\$3,350.00	\$13,400.00	\$3,200.00	\$12,800.00
32	RIP RAP, CLASS I	25	TON	\$41.33	\$1,033.25	\$47.00	\$1,175.00
33	RIP RAP, CLASS B	70	TON	\$41.33	\$2,893.10	\$47.00	\$3,290.00
34	GEOTEXTILE FOR DRAINAGE	470	SY	\$3.75	\$1,762.50	\$3.80	\$1,786.00
35	TEMPORARY TRAFFIC CONTROL	1	LS	\$5,470.00	\$5,470.00	\$6,595.00	\$6,595.00
36	THERMOPLASTIC PAVEMENT MARKING LINES (4", 90 MILS)	1,880	LF	\$3.10	\$5,828.00	\$3.10	\$5,828.00
37	TEMPORARY SILT FENCE	265	LF	\$4.50	\$1,192.50	\$3.00	\$795.00
38	STONE FOR EROSION CONTROL, CLASS A	120	TON	\$0.01	\$1.20	\$57.00	\$6,840.00
39	STONE FOR EROSION CONTROL, CLASS B	130	TON	\$0.01	\$1.30	\$47.00	\$6,110.00
40	SEDIMENT CONTROL STONE	115	TON	\$0.01	\$1.15	\$36.50	\$4,197.50
41	TEMPORARY MULCHING	1	ACR	\$0.01	\$0.01	\$1,500.00	\$1,500.00
42	SEED FOR TEMPORARY SEEDING	100	LB	\$0.01	\$1.00	\$4.50	\$450.00
43	FERTILIZER FOR TEMPORARY SEEDING	1	TON	\$0.02	\$0.01	\$1,500.00	\$750.00
44	TEMPORARY SLOPE DRAINS	200	LF	\$0.01	\$2.00	\$25.00	\$5,000.00
45	SAFETY FENCE	320	LF	\$2.00	\$640.00	\$3.00	\$960.00
46	SILT EXCAVATION	170	CY	\$0.01	\$1.70	\$12.00	\$2,040.00
47	MATTING FOR EROSION CONTROL	7,500	SY	\$0.01	\$75.00	\$1.50	\$11,250.00
48	COIR FIBER MAT	100	SY	\$5.75	\$575.00	\$4.75	\$475.00
49	1/4" HARDWARE CLOTH	380	LF	\$6.00	\$2,280.00	\$4.00	\$1,520.00
50	SEEDING & MULCHING	3	ACR	\$0.01	\$0.03	\$2,800.00	\$8,400.00
51	MOWING	1	ACR	\$175.00	\$87.50	\$450.00	\$225.00
52	SEED FOR REPAIR SEEDING	50	LB	\$6.00	\$300.00	\$10.00	\$500.00
	FERTILIZER FOR REPAIR SEEDING	0.25	TON	\$600.00	\$150.00	\$1,250.00	\$312.50
	SEED FOR SUPPLEMENTAL SEEDING	50	LB	\$6.00	\$300.00	\$7.00	\$350.00
55	FERTILIZER TOPDRESSING	0.50	TON	\$600.00	\$300.00	\$1,250.00	\$625.00
_	SPECIALIZED HAND MOWING	10	MHR	\$45.00	\$450.00	\$110.00	\$1,100.00
57	RESPONSE FOR EROSION CONTROL	25	EA	\$0.01	\$0.25	\$300.00	\$7,500.00

58 CONCRETE WASHOUT STRUCTURE 2 EA \$321.00 \$642.00 \$3340.81 \$68 59 REMOVAL OF EXISTING STRUCTURE AT STATION 17+20.00 -L- 1 LS \$63,615.94 \$63,615.94 \$50,000.00 \$50,000 60 ASBESTOS ASSESSMENT 1 LS \$2,500.00 \$27,000.00 \$700.00 \$700.00 \$700.00 \$700.00 \$700.00 \$2,200.00 \$					SANFORD CON	NTRACTORS INC	DELLIN	IGER INC
59 REMOVAL OF EXISTING STRUCTURE AT STATION 17+20.00 -L- 1 LS \$63,615.94 \$50,000.00 \$50,000 60 ASBESTOS ASSESSMENT 1 LS \$2,500.00 \$2,200.00 \$700.00 \$700.00 61 UNCLASSIFIED STRUCTURE EXCAVATION AT STATION 17+20.00 -L- 1 LS \$2,000.00 \$2,200.00 \$2,500.00 \$2,500.00 \$2,500.00	ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
59 STATION 17+20.00 -L- 1 LS \$65,615.94 \$50,000 \$50,000 60 ASBESTOS ASSESSMENT 1 LS \$2,500.00 \$2,500.00 \$700.00 \$70 61 UNCLASSIFIED STRUCTURE EXCAVATION AT STATION 17+20.00 -L- 1 LS \$2,000.00 \$2,200.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,600.00 \$2,600.00<	58	CONCRETE WASHOUT STRUCTURE	2	EA	\$321.00	\$642.00	\$340.81	\$681.62
61 UNCLASSIFIED STRUCTURE EXCAVATION AT STATION 17+20.00 -L- 1 LS \$2,000.00 \$2,200.00 \$2,500.00 <th< th=""><th>59</th><th></th><th>1</th><th>LS</th><th>\$63,615.94</th><th>\$63,615.94</th><th>\$50,000.00</th><th>\$50,000.00</th></th<>	59		1	LS	\$63,615.94	\$63,615.94	\$50,000.00	\$50,000.00
61 STATION 17+20.00 -L- 1 LS \$2,000.00 \$2,200.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,500.00 \$	60	ASBESTOS ASSESSMENT	1	LS	\$2,500.00	\$2,500.00	\$700.00	\$700.00
63 BRIDGE APPROACH SLABS, STATION 17+20.00 -L- 1 LS \$45,798.75 \$45,798.75 \$25,000.00 \$25,000 64 REINFORCING STEEL (BRIDGE) 9,398 LB \$0.90 \$8,458.20 \$1.50 \$14,09 65 PILE DRIVING EQUIPMENT SETUP FOR HP12X53 14 EA \$2,500.00 \$35,000.00 \$4,000.00 \$56,00 66 HP 12 X 53 STEEL PILES 200 LF \$0.01 \$2.00 \$41.50 \$8,30 67 STEEL PILE POINTS 14 EA \$112.35 \$1,572.90 \$130.00 \$1,82 68 DYNAMIC PILE TESTING 1 EA \$2,500.00	61		1	LS	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00
64 REINFORCING STEEL (BRIDGE) 9,398 LB \$0.90 \$8,458.20 \$1.50 \$14,09 65 PILE DRIVING EQUIPMENT SETUP FOR HP12X53 STEEL PILES 14 EA \$2,500.00 \$35,000.00 \$4,000.00 \$56,00 66 HP 12 X 53 STEEL PILES 200 LF \$0.01 \$2.00 \$41.50 \$8,30 67 STEEL PILE POINTS 14 EA \$112.35 \$1,572.90 \$130.00 \$1,82 68 DYNAMIC PILE TESTING 1 EA \$2,500.00<	62	CLASS A CONCRETE (BRIDGE)	59.40	CY	\$873.37	\$51,878.18	\$1,382.79	\$82,137.73
65 PILE DRIVING EQUIPMENT SETUP FOR HP12X53 STEEL PILES 14 EA \$2,500.00 \$35,000.00 \$4,000.00 \$56,000 66 HP 12 X 53 STEEL PILES 200 LF \$0.01 \$2.00 \$41.50 \$8,300 67 STEEL PILE POINTS 14 EA \$112.35 \$1,572.90 \$130.00 \$1,820 68 DYNAMIC PILE TESTING 1 EA \$2,500.00 <td< th=""><th>63</th><th>BRIDGE APPROACH SLABS, STATION 17+20.00 -L-</th><th>1</th><th>LS</th><th>\$45,798.75</th><th>\$45,798.75</th><th>\$25,000.00</th><th>\$25,000.00</th></td<>	63	BRIDGE APPROACH SLABS, STATION 17+20.00 -L-	1	LS	\$45,798.75	\$45,798.75	\$25,000.00	\$25,000.00
65 STEEL PILES 14 EA \$2,500.00 \$35,000.00 \$4,000.00 \$56,00 66 HP 12 X 53 STEEL PILES 200 LF \$0.01 \$2.00 \$41.50 \$8,30 67 STEEL PILE POINTS 14 EA \$112.35 \$1,572.90 \$130.00 \$1,82 68 DYNAMIC PILE TESTING 1 EA \$2,500.00 \$39,900 \$39,900 \$30,900 \$39,900 \$30,900 \$30,900 \$39,900 \$30,900 \$39,900 \$31,031.25 \$41,066 \$14,066 \$14,066 \$14,066 \$14,066 \$14,066 \$14,066 \$14,066 \$14,066 \$14,066 \$14,066 \$14,066 \$14,066 \$1,031.25 \$	64	REINFORCING STEEL (BRIDGE)	9,398	LB	\$0.90	\$8,458.20	\$1.50	\$14,097.00
67 STEEL PILE POINTS 14 EA \$112.35 \$1,572.90 \$130.00 \$1,82 68 DYNAMIC PILE TESTING 1 EA \$2,500.00 \$39,900 \$39,900 \$39,900 \$39,900 \$39,900 \$39,900 \$39,900 \$39,900 \$39,900 \$39,900 \$30,900 \$39,900 \$39,900 \$39,900 \$39,900 \$39,900 \$30,900 \$39,900 \$39,900 \$30,900 \$39,900 \$31,031.25 \$41,406 \$14,006 \$14,006 \$14,006 \$14,006 \$14,006 \$14,006 \$14,006 \$14,006 \$14,006 \$14,006 \$14,006 \$14,006 \$14,006 \$14,006 <td< th=""><th>65</th><th>-</th><th>14</th><th>EA</th><th>\$2,500.00</th><th>\$35,000.00</th><th>\$4,000.00</th><th>\$56,000.00</th></td<>	65	-	14	EA	\$2,500.00	\$35,000.00	\$4,000.00	\$56,000.00
68 DYNAMIC PILE TESTING 1 EA \$2,500.00 \$2,500.00 \$2,500.00 69 VERTICAL CONCRETE BARRIER RAIL 210 LF \$217.39 \$45,651.90 \$190.00 \$39,900 70 RIP RAP CLASS II (2'-0" THICK) 249 TON \$87.10 \$21,687.90 \$56.50 \$14,060 71 GEOTEXTILE FOR DRAINAGE 275 SY \$3.75 \$1,031.25 \$4.25 \$1,160 72 ELASTOMERIC BEARINGS 1 LS \$2,284.09 \$2,284.09 \$2,600.00 \$2,600	66	HP 12 X 53 STEEL PILES	200	LF	\$0.01	\$2.00	\$41.50	\$8,300.00
69 VERTICAL CONCRETE BARRIER RAIL 210 LF \$217.39 \$45,651.90 \$190.00 \$39,90 70 RIP RAP CLASS II (2'-0" THICK) 249 TON \$87.10 \$21,687.90 \$56.50 \$14,06 71 GEOTEXTILE FOR DRAINAGE 275 SY \$3.75 \$1,031.25 \$4.25 \$1,16 72 ELASTOMERIC BEARINGS 1 LS \$2,284.09 \$2,284.09 \$2,600.00 \$2,600	67	STEEL PILE POINTS	14	EA	\$112.35	\$1,572.90	\$130.00	\$1,820.00
70 RIP RAP CLASS II (2'-0" THICK) 249 TON \$87.10 \$21,687.90 \$56.50 \$14,06 71 GEOTEXTILE FOR DRAINAGE 275 SY \$3.75 \$1,031.25 \$4.25 \$1,16 72 ELASTOMERIC BEARINGS 1 LS \$2,284.09 \$2,600.00 \$2,600	68	DYNAMIC PILE TESTING	1	EA	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
71 GEOTEXTILE FOR DRAINAGE 275 SY \$3.75 \$1,031.25 \$4.25 \$1,16 72 ELASTOMERIC BEARINGS 1 LS \$2,284.09 \$2,600.00 \$2,600	69	VERTICAL CONCRETE BARRIER RAIL	210	LF	\$217.39	\$45,651.90	\$190.00	\$39,900.00
72 ELASTOMERIC BEARINGS 1 LS \$2,284.09 \$2,600.00 \$2,600	70	RIP RAP CLASS II (2'-0" THICK)	249	TON	\$87.10	\$21,687.90	\$56.50	\$14,068.50
	71	GEOTEXTILE FOR DRAINAGE	275	SY	\$3.75	\$1,031.25	\$4.25	\$1,168.75
73 3'-0" X 3'-3" PRESTRESSED CONC CORED SLABS 1,115 LF \$316.01 \$352,351.15 \$312.00 \$347,88	72	ELASTOMERIC BEARINGS	1	LS	\$2,284.09	\$2,284.09	\$2,600.00	\$2,600.00
\$081 000 00 \$1 030 02	73	3'-0" X 3'-3" PRESTRESSED CONC CORED SLABS	1,115	LF	\$316.01		\$312.00	\$347,880.00

\$981,000.00

\$1,030,026.50

Bidder No. 1: SANFORD CONTRACTORS INC

Bidder No. 2: DELLINGER INC

Bidder No. 3: APAC ATLANTIC INC THOMPSON ARTHURDIVISION

Bidder No. 4: R E BURNS & SONS CO INC

Bidder No. 5: EASTERN STRUCTURES LLC

Bidder No. 6: SMITH-ROWE, LLC

Bidder No. 7: S T WOOTEN CORPORATION

Contract No:DH00568

WBS No:BP8.R009.3

County:Chatham

Replacement of Bridge No. 252 over Blood Run Creek on SR 1127 (Wrenn Smith Road)

				THOMPSON ARTHUR DIVISION		R E BURNS & SONS CO IN	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	MOBILIZATION	1	LS	\$53,500.00	\$53,500.00	\$53,000.00	\$53,000.00
2	GRADING	1	LS	\$88,500.00	\$88,500.00	\$61,550.00	\$61,550.00
3	SUPPLEMENTARY CLEARING & GRUBBING	1	ACR	\$1.00	\$1.00	\$1.00	\$1.00
4	UNDERCUT EXCAVATION	25	CY	\$12.00	\$300.00	\$13.00	\$325.00
5	DRAINAGE DITCH EXCAVATION	220	CY	\$13.00	\$2,860.00	\$35.00	\$7,700.00
6	SELECT GRANULAR MATERIAL	25	CY	\$40.00	\$1,000.00	\$45.00	\$1,125.00
7	GEOTEXTILE FOR SOIL STABILIZATION	25	SY	\$3.80	\$95.00	\$3.00	\$75.00
8	TYPE 1 BRIDGE APPROACH FILL, STA. 17+20.00 -L-	1	LS	\$11,600.00	\$11,600.00	\$13,000.00	\$13,000.00
9	FOUNDATION CONDITIONING MATERIAL, MINOR STRUCTURES	10	TON	\$1.00	\$10.00	\$55.00	\$550.00
10	FOUNDATION CONDITIONING GEOTEXTILE	30	SY	\$1.00	\$30.00	\$2.00	\$60.00
11	15" DRAINAGE PIPE	24	LF	\$1.00	\$24.00	\$100.00	\$2,400.00
12	15" SIDE DRAINAGE PIPE	36	LF	\$65.00	\$2,340.00	\$100.00	\$3,600.00
13	15" HDPE PIPE CULVERT	16	LF	\$65.00	\$1,040.00	\$100.00	\$1,600.00
14	PIPE REMOVAL	22	LF	\$12.00	\$264.00	\$15.00	\$330.00
15	CLASS IV SUBGRADE STABILIZATION	25	TON	\$30.00	\$750.00	\$25.00	\$625.00
16	INCIDENTAL STONE BASE	10	TON	\$30.00	\$300.00	\$45.00	\$450.00
17	INCIDENTAL MILLING	150	SY	\$20.00	\$3,000.00	\$25.00	\$3,750.00
18	ASPHALT CONC BASE COURSE, TYPE B25.0C	215	TON	\$128.00	\$27,520.00	\$128.00	\$27,520.00
19	ASPHALT CONC INTERMEDIATE COURSE, TYPE I19.0C	210	TON	\$128.00	\$26,880.00	\$128.00	\$26,880.00
20	ASPHALT CONC SURFACE COURSE, TYPE S9.5B	165	TON	\$155.00	\$25,575.00	\$155.00	\$25,575.00
21	ASPHALT BINDER FOR PLANT MIX	35	TON	\$700.00	\$24,500.00	\$700.00	\$24,500.00
22	ASPHALT PLANT MIX, PAVEMENT REPAIR	5	TON	\$150.00	\$750.00	\$200.00	\$1,000.00
23	RIGHT-OF-WAY MARKERS	11	EA	\$350.00	\$3,850.00	\$220.00	\$2,420.00

					ON ARTHUR ISION	R E BURNS &	SONS CO INC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
24	MASONRY DRAINAGE STRUCTURES	2	EA	\$3,500.00	\$7,000.00	\$3,200.00	\$6,400.00
25	MASONRY DRAINAGE STRUCTURES	1	LF	\$1,200.00	\$600.00	\$500.00	\$250.00
26	FRAME AND GRATES, STD 840.29	2	EA	\$1,250.00	\$2,500.00	\$1,200.00	\$2,400.00
27	SHOULDER BERM GUTTER	65	LF	\$80.00	\$5,200.00	\$94.00	\$6,110.00
28	STEEL BEAM GUARDRAIL	100	LF	\$24.00	\$2,400.00	\$24.00	\$2,400.00
29	ADDITIONAL GUARDRAIL POSTS	5	EA	\$50.00	\$250.00	\$1.00	\$5.00
30	GUARDRAIL ANCHOR UNITS, TYPE III	4	EA	\$2,350.00	\$9,400.00	\$2,200.00	\$8,800.00
31	GUARDRAIL END UNITS, TYPE TL-3	4	EA	\$3,200.00	\$12,800.00	\$3,350.00	\$13,400.00
32	RIP RAP, CLASS I	25	TON	\$47.00	\$1,175.00	\$75.00	\$1,875.00
33	RIP RAP, CLASS B	70	TON	\$47.00	\$3,290.00	\$75.00	\$5,250.00
34	GEOTEXTILE FOR DRAINAGE	470	SY	\$3.80	\$1,786.00	\$1.50	\$705.00
35	TEMPORARY TRAFFIC CONTROL	1	LS	\$5,000.00	\$5,000.00	\$7,600.00	\$7,600.00
36	THERMOPLASTIC PAVEMENT MARKING LINES (4", 90 MILS)	1,880	LF	\$3.10	\$5,828.00	\$3.10	\$5,828.00
37	TEMPORARY SILT FENCE	265	LF	\$3.00	\$795.00	\$3.00	\$795.00
38	STONE FOR EROSION CONTROL, CLASS A	120	TON	\$1.00	\$120.00	\$0.01	\$1.20
39	STONE FOR EROSION CONTROL, CLASS B	130	TON	\$47.00	\$6,110.00	\$0.01	\$1.30
40	SEDIMENT CONTROL STONE	115	TON	\$36.50	\$4,197.50	\$0.01	\$1.15
41	TEMPORARY MULCHING	1	ACR	\$1,500.00	\$1,500.00	\$1,300.00	\$1,300.00
42	SEED FOR TEMPORARY SEEDING	100	LB	\$4.50	\$450.00	\$3.00	\$300.00
43	FERTILIZER FOR TEMPORARY SEEDING	1	TON	\$1,500.00	\$750.00	\$1,200.00	\$600.00
44	TEMPORARY SLOPE DRAINS	200	LF	\$25.00	\$5,000.00	\$4.00	\$800.00
45	SAFETY FENCE	320	LF	\$3.00	\$960.00	\$3.00	\$960.00
46	SILT EXCAVATION	170	CY	\$1.00	\$170.00	\$0.01	\$1.70
47	MATTING FOR EROSION CONTROL	7,500	SY	\$1.00	\$7,500.00	\$1.85	\$13,875.00
	COIR FIBER MAT	100	SY	\$4.75	\$475.00	\$6.00	\$600.00
49	1/4" HARDWARE CLOTH	380	LF	\$4.00	\$1,520.00	\$6.00	\$2,280.00
50	SEEDING & MULCHING	3	ACR	\$2,800.00	\$8,400.00	\$500.00	\$1,500.00
51	MOWING	1	ACR	\$2.00	\$1.00	\$1.00	\$0.50
52	SEED FOR REPAIR SEEDING	50	LB	\$1.00	\$50.00	\$3.00	\$150.00
53	FERTILIZER FOR REPAIR SEEDING	0.25	TON	\$4.00	\$1.00	\$1,500.00	\$375.00
54	SEED FOR SUPPLEMENTAL SEEDING	50	LB	\$1.00	\$50.00	\$3.00	\$150.00
55	FERTILIZER TOPDRESSING	0.50	TON	\$100.00	\$50.00	\$1,500.00	\$750.00
56	SPECIALIZED HAND MOWING	10	MHR	\$1.00	\$10.00	\$1.00	\$10.00
57	RESPONSE FOR EROSION CONTROL	25	EA	\$1.00	\$25.00	\$0.01	\$0.25

					ON ARTHUR		
	ITEM		L D UTC		ISION		& SONS CO INC
ITEM NC		QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
58	CONCRETE WASHOUT STRUCTURE	2	EA	\$250.00	\$500.00	\$1,000.00	\$2,000.00
59	REMOVAL OF EXISTING STRUCTURE AT STATION 17+20.00 -L-	1	LS	\$28,000.00	\$28,000.00	\$50,000.00	\$50,000.00
60	ASBESTOS ASSESSMENT	1	LS	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00
61	UNCLASSIFIED STRUCTURE EXCAVATION AT STATION 17+20.00 -L-	1	LS	\$2,200.00	\$2,200.00	\$10,000.00	\$10,000.00
62	CLASS A CONCRETE (BRIDGE)	59.40	CY	\$1,510.00	\$89,694.00	\$1,500.00	\$89,100.00
63	BRIDGE APPROACH SLABS, STATION 17+20.00 -L-	1	LS	\$25,550.00	\$25,550.00	\$24,000.00	\$24,000.00
64	REINFORCING STEEL (BRIDGE)	9,398	LB	\$2.15	\$20,205.70	\$2.50	\$23,495.00
65	PILE DRIVING EQUIPMENT SETUP FOR HP12X53 STEEL PILES	14	EA	\$500.00	\$7,000.00	\$1,200.00	\$16,800.00
66	HP 12 X 53 STEEL PILES	200	LF	\$50.00	\$10,000.00	\$40.00	\$8,000.00
67	STEEL PILE POINTS	14	EA	\$100.00	\$1,400.00	\$225.00	\$3,150.00
68	DYNAMIC PILE TESTING	1	EA	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00
69	VERTICAL CONCRETE BARRIER RAIL	210	LF	\$193.50	\$40,635.00	\$154.00	\$32,340.00
70	RIP RAP CLASS II (2'-0" THICK)	249	TON	\$56.50	\$14,068.50	\$75.00	\$18,675.00
71	GEOTEXTILE FOR DRAINAGE	275	SY	\$4.25	\$1,168.75	\$3.00	\$825.00
72	ELASTOMERIC BEARINGS	1	LS	\$6,550.00	\$6,550.00	\$4,000.00	\$4,000.00
73	3'-0" X 3'-3" PRESTRESSED CONC CORED SLABS	1,115	LF	\$392.50	\$437,637.50	\$400.00	\$446,000.00
					¢1 059 161 05		¢1 075 905 10

\$1,058,161.95

\$1,075,895.10

Bidder No. 1: SANFORD CONTRACTORS INC

Bidder No. 2: DELLINGER INC

Bidder No. 3: APAC ATLANTIC INC THOMPSON ARTHURDIVISION

Bidder No. 4: R E BURNS & SONS CO INC

Bidder No. 5: EASTERN STRUCTURES LLC

Bidder No. 6: SMITH-ROWE, LLC

Bidder No. 7: S T WOOTEN CORPORATION

Contract No:DH00568

WBS No:BP8.R009.3

County:Chatham

Replacement of Bridge No. 252 over Blood Run Creek on SR 1127 (Wrenn Smith Road)

				EACTEDN STE	RUCTURES LLC	CMITH D	OWE, LLC
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	MOBILIZATION	1	LS	\$56,000.00	\$56,000.00	\$57,400.00	\$57,400.00
2	GRADING	1	LS	\$85,000.00	\$85,000.00	\$175,750.00	\$175,750.00
3	SUPPLEMENTARY CLEARING & GRUBBING	1	ACR	\$1.00	\$1.00	\$1.00	\$1.00
4	UNDERCUT EXCAVATION	25	CY	\$65.00	\$1,625.00	\$35.00	\$875.00
5	DRAINAGE DITCH EXCAVATION	220	CY	\$10.00	\$2,200.00	\$21.00	\$4,620.00
6	SELECT GRANULAR MATERIAL	25	CY	\$65.00	\$1,625.00	\$1.00	\$25.00
7	GEOTEXTILE FOR SOIL STABILIZATION	25	SY	\$30.00	\$750.00	\$1.00	\$25.00
8	TYPE 1 BRIDGE APPROACH FILL, STA. 17+20.00 -L-	1	LS	\$17,000.00	\$17,000.00	\$17,000.00	\$17,000.00
y y	FOUNDATION CONDITIONING MATERIAL, MINOR STRUCTURES	10	TON	\$45.00	\$450.00	\$1.00	\$10.00
10	FOUNDATION CONDITIONING GEOTEXTILE	30	SY	\$3.00	\$90.00	\$1.00	\$30.00
11	15" DRAINAGE PIPE	24	LF	\$75.00	\$1,800.00	\$53.00	\$1,272.00
12	15" SIDE DRAINAGE PIPE	36	LF	\$75.00	\$2,700.00	\$53.00	\$1,908.00
13	15" HDPE PIPE CULVERT	16	LF	\$75.00	\$1,200.00	\$53.00	\$848.00
14	PIPE REMOVAL	22	LF	\$20.00	\$440.00	\$16.00	\$352.00
15	CLASS IV SUBGRADE STABILIZATION	25	TON	\$45.00	\$1,125.00	\$45.00	\$1,125.00
16	INCIDENTAL STONE BASE	10	TON	\$45.00	\$450.00	\$45.00	\$450.00
17	INCIDENTAL MILLING	150	SY	\$50.00	\$7,500.00	\$16.00	\$2,400.00
18	ASPHALT CONC BASE COURSE, TYPE B25.0C	215	TON	\$165.00	\$35,475.00	\$128.00	\$27,520.00
19	ASPHALT CONC INTERMEDIATE COURSE, TYPE I19.0C	210	TON	\$165.00	\$34,650.00	\$128.00	\$26,880.00
20	ASPHALT CONC SURFACE COURSE, TYPE S9.5B	165	TON	\$192.00	\$31,680.00	\$155.00	\$25,575.00
21	ASPHALT BINDER FOR PLANT MIX	35	TON	\$710.00	\$24,850.00	\$700.00	\$24,500.00
22	ASPHALT PLANT MIX, PAVEMENT REPAIR	5	TON	\$250.00	\$1,250.00	\$1.00	\$5.00
23	RIGHT-OF-WAY MARKERS	11	EA	\$275.00	\$3,025.00	\$275.00	\$3,025.00

				FASTERN STI	RUCTURES LLC	SMITH-R	OWE, LLC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
24	MASONRY DRAINAGE STRUCTURES	2	EA	\$3,500.00	\$7,000.00	\$2,400.00	\$4,800.00
25	MASONRY DRAINAGE STRUCTURES	1	LF	\$550.00	\$275.00	\$375.00	\$187.50
	FRAME AND GRATES, STD 840.29	2	EA	\$1,000.00	\$2,000.00	\$444.00	\$888.00
-	SHOULDER BERM GUTTER	65	LF	\$75.00	\$4,875.00	\$93.77	\$6,095.05
28	STEEL BEAM GUARDRAIL	100	LF	\$34.00	\$3,400.00	\$24.00	\$2,400.00
29	ADDITIONAL GUARDRAIL POSTS	5	EA	\$55.00	\$275.00	\$0.01	\$0.05
30	GUARDRAIL ANCHOR UNITS, TYPE III	4	EA	\$2,900.00	\$11,600.00	\$2,200.00	\$8,800.00
31	GUARDRAIL END UNITS, TYPE TL-3	4	EA	\$3,500.00	\$14,000.00	\$3,350.00	\$13,400.00
32	RIP RAP, CLASS I	25	TON	\$60.00	\$1,500.00	\$61.00	\$1,525.00
33	RIP RAP, CLASS B	70	TON	\$60.00	\$4,200.00	\$61.00	\$4,270.00
34	GEOTEXTILE FOR DRAINAGE	470	SY	\$3.00	\$1,410.00	\$2.00	\$940.00
35	TEMPORARY TRAFFIC CONTROL	1	LS	\$8,500.00	\$8,500.00	\$12,500.00	\$12,500.00
36	THERMOPLASTIC PAVEMENT MARKING LINES (4", 90 MILS)	1,880	LF	\$4.00	\$7,520.00	\$3.10	\$5,828.00
37	TEMPORARY SILT FENCE	265	LF	\$3.50	\$927.50	\$3.30	\$874.50
38	STONE FOR EROSION CONTROL, CLASS A	120	TON	\$10.00	\$1,200.00	\$1.00	\$120.00
39	STONE FOR EROSION CONTROL, CLASS B	130	TON	\$10.00	\$1,300.00	\$1.00	\$130.00
40	SEDIMENT CONTROL STONE	115	TON	\$10.00	\$1,150.00	\$1.00	\$115.00
41	TEMPORARY MULCHING	1	ACR	\$2,000.00	\$2,000.00	\$1.00	\$1.00
42	SEED FOR TEMPORARY SEEDING	100	LB	\$4.00	\$400.00	\$1.00	\$100.00
43	FERTILIZER FOR TEMPORARY SEEDING	1	TON	\$1,200.00	\$600.00	\$1.00	\$0.50
44	TEMPORARY SLOPE DRAINS	200	LF	\$5.00	\$1,000.00	\$1.00	\$200.00
45	SAFETY FENCE	320	LF	\$4.00	\$1,280.00	\$2.00	\$640.00
46	SILT EXCAVATION	170	CY	\$7.00	\$1,190.00	\$2.00	\$340.00
47	MATTING FOR EROSION CONTROL	7,500	SY	\$0.10	\$750.00	\$1.15	\$8,625.00
48	COIR FIBER MAT	100	SY	\$7.00	\$700.00	\$5.75	\$575.00
49	1/4" HARDWARE CLOTH	380	LF	\$10.00	\$3,800.00	\$3.70	\$1,406.00
50	SEEDING & MULCHING	3	ACR	\$1,500.00	\$4,500.00	\$1.00	\$3.00
51	MOWING	1	ACR	\$300.00	\$150.00	\$1.00	\$0.50
52	SEED FOR REPAIR SEEDING	50	LB	\$5.00	\$250.00	\$1.00	\$50.00
53	FERTILIZER FOR REPAIR SEEDING	0.25	TON	\$1,200.00	\$300.00	\$1.00	\$0.25
54	SEED FOR SUPPLEMENTAL SEEDING	50	LB	\$5.00	\$250.00	\$1.00	\$50.00
55	FERTILIZER TOPDRESSING	0.50	TON	\$1,200.00	\$600.00	\$1.00	\$0.50
56	SPECIALIZED HAND MOWING	10	MHR	\$75.00	\$750.00	\$1.00	\$10.00
57	RESPONSE FOR EROSION CONTROL	25	EA	\$10.00	\$250.00	\$1.00	\$25.00

				EASTERN STI	RUCTURES LLC	SMITH-R	OWE, LLC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
58	CONCRETE WASHOUT STRUCTURE	2	EA	\$500.00	\$1,000.00	\$600.00	\$1,200.00
59	REMOVAL OF EXISTING STRUCTURE AT STATION 17+20.00 -L-	1	LS	\$75,000.00	\$75,000.00	\$55,420.00	\$55,420.00
60	ASBESTOS ASSESSMENT	1	LS	\$1,500.00	\$1,500.00	\$775.00	\$775.00
61	UNCLASSIFIED STRUCTURE EXCAVATION AT STATION 17+20.00 -L-	1	LS	\$5,000.00	\$5,000.00	\$6,300.00	\$6,300.00
62	CLASS A CONCRETE (BRIDGE)	59.40	CY	\$1,200.00	\$71,280.00	\$1,385.48	\$82,297.51
63	BRIDGE APPROACH SLABS, STATION 17+20.00 -L-	1	LS	\$26,000.00	\$26,000.00	\$32,900.00	\$32,900.00
64	REINFORCING STEEL (BRIDGE)	9,398	LB	\$2.00	\$18,796.00	\$1.71	\$16,070.58
65	PILE DRIVING EQUIPMENT SETUP FOR HP12X53 STEEL PILES	14	EA	\$1,000.00	\$14,000.00	\$1,000.67	\$14,009.38
66	HP 12 X 53 STEEL PILES	200	LF	\$60.00	\$12,000.00	\$48.69	\$9,738.00
67	STEEL PILE POINTS	14	EA	\$225.00	\$3,150.00	\$181.00	\$2,534.00
68	DYNAMIC PILE TESTING	1	EA	\$500.00	\$500.00	\$1.00	\$1.00
69	VERTICAL CONCRETE BARRIER RAIL	210	LF	\$180.00	\$37,800.00	\$182.91	\$38,411.10
70	RIP RAP CLASS II (2'-0'' THICK)	249	TON	\$73.00	\$18,177.00	\$59.00	\$14,691.00
71	GEOTEXTILE FOR DRAINAGE	275	SY	\$3.00	\$825.00	\$2.00	\$550.00
72	ELASTOMERIC BEARINGS	1	LS	\$3,500.00	\$3,500.00	\$3,165.00	\$3,165.00
73	3'-0" X 3'-3" PRESTRESSED CONC CORED SLABS	1,115	LF	\$384.00	\$428,160.00	\$379.87	\$423,555.05
					\$1 117 <i>1</i> 76 50		©1 1/Q 113 /7

\$1,117,476.50

\$1,148,113.47

Bidder No. 1: SANFORD CONTRACTORS INC

Bidder No. 2: DELLINGER INC

Bidder No. 3: APAC ATLANTIC INC THOMPSON ARTHURDIVISION

Bidder No. 4: R E BURNS & SONS CO INC

Bidder No. 5: EASTERN STRUCTURES LLC

Bidder No. 6: SMITH-ROWE, LLC

Bidder No. 7: S T WOOTEN CORPORATION

Contract No:DH00568

WBS No:BP8.R009.3

County:Chatham

Replacement of Bridge No. 252 over Blood Run Creek on SR 1127 (Wrenn Smith Road)

				S T WOOTEN	CORPORATION		A FRED SMITH PANY
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	MOBILIZATION	1	LS	\$57,500.00	\$57,500.00	\$59,000.00	\$59,000.00
2	GRADING	1	LS	\$64,500.00	\$64,500.00	\$85,000.00	\$85,000.00
3	SUPPLEMENTARY CLEARING & GRUBBING	1	ACR	\$1.00	\$1.00	\$1.00	\$1.00
4	UNDERCUT EXCAVATION	25	CY	\$29.00	\$725.00	\$100.00	\$2,500.00
5	DRAINAGE DITCH EXCAVATION	220	CY	\$40.00	\$8,800.00	\$26.00	\$5,720.00
6	SELECT GRANULAR MATERIAL	25	CY	\$71.00	\$1,775.00	\$60.00	\$1,500.00
7	GEOTEXTILE FOR SOIL STABILIZATION	25	SY	\$2.60	\$65.00	\$5.00	\$125.00
8	TYPE 1 BRIDGE APPROACH FILL, STA. 17+20.00 -L-	1	LS	\$18,000.00	\$18,000.00	\$23,000.00	\$23,000.00
9	FOUNDATION CONDITIONING MATERIAL,	10	TON	\$25.00	\$250.00	\$70.00	\$700.00
-	MINOR STRUCTURES						
	FOUNDATION CONDITIONING GEOTEXTILE	30	SY	\$2.00	\$60.00	\$5.00	\$150.00
	15" DRAINAGE PIPE	24	LF	\$120.00	\$2,880.00		\$1,920.00
	15" SIDE DRAINAGE PIPE	36	LF	\$120.00	\$4,320.00	\$80.00	\$2,880.00
	15" HDPE PIPE CULVERT	16	LF	\$120.00	\$1,920.00	\$80.00	\$1,280.00
	PIPE REMOVAL	22	LF	\$34.00	\$748.00	\$40.00	\$880.00
15	CLASS IV SUBGRADE STABILIZATION	25	TON	\$43.50	\$1,087.50	\$55.00	\$1,375.00
	INCIDENTAL STONE BASE	10	TON	\$38.00	\$380.00	\$75.00	\$750.00
17	INCIDENTAL MILLING	150	SY	\$40.00	\$6,000.00		\$5,400.00
18	ASPHALT CONC BASE COURSE, TYPE B25.0C	215	TON	\$135.00	\$29,025.00	\$110.00	\$23,650.00
19	ASPHALT CONC INTERMEDIATE COURSE, TYPE 119.0C	210	TON	\$120.00	\$25,200.00	\$105.00	\$22,050.00
20	ASPHALT CONC SURFACE COURSE, TYPE S9.5B	165	TON	\$130.00	\$21,450.00	\$135.00	\$22,275.00
21	ASPHALT BINDER FOR PLANT MIX	35	TON	\$525.00	\$18,375.00	\$680.00	\$23,800.00
22	ASPHALT PLANT MIX, PAVEMENT REPAIR	5	TON	\$250.00	\$1,250.00	\$275.00	\$1,375.00
23	RIGHT-OF-WAY MARKERS	11	EA	\$425.00	\$4,675.00	\$400.00	\$4,400.00

				S T WOOTEN	CORPORATION		A FRED SMITH PANY
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
24	MASONRY DRAINAGE STRUCTURES	2	EA	\$4,100.00	\$8,200.00	\$3,500.00	\$7,000.00
25	MASONRY DRAINAGE STRUCTURES	1	LF	\$190.00	\$95.00	\$1,100.00	\$550.00
26	FRAME AND GRATES, STD 840.29	2	EA	\$1,040.00	\$2,080.00	\$1,250.00	\$2,500.00
27	SHOULDER BERM GUTTER	65	LF	\$71.74	\$4,663.10	\$60.00	\$3,900.00
28	STEEL BEAM GUARDRAIL	100	LF	\$24.00	\$2,400.00	\$24.00	\$2,400.00
29	ADDITIONAL GUARDRAIL POSTS	5	EA	\$11.00	\$55.00	\$11.00	\$55.00
30	GUARDRAIL ANCHOR UNITS, TYPE III	4	EA	\$2,200.00	\$8,800.00	\$2,200.00	\$8,800.00
31	GUARDRAIL END UNITS, TYPE TL-3	4	EA	\$3,350.00	\$13,400.00	\$3,350.00	\$13,400.00
32	RIP RAP, CLASS I	25	TON	\$77.00	\$1,925.00	\$116.00	\$2,900.00
33	RIP RAP, CLASS B	70	TON	\$76.50	\$5,355.00	\$92.00	\$6,440.00
34	GEOTEXTILE FOR DRAINAGE	470	SY	\$1.00	\$470.00	\$1.00	\$470.00
35	TEMPORARY TRAFFIC CONTROL	1	LS	\$11,500.00	\$11,500.00	\$8,900.00	\$8,900.00
36	THERMOPLASTIC PAVEMENT MARKING LINES (4", 90 MILS)	1,880	LF	\$1.65	\$3,102.00	\$3.10	\$5,828.00
37	TEMPORARY SILT FENCE	265	LF	\$4.50	\$1,192.50	\$7.00	\$1,855.00
38	STONE FOR EROSION CONTROL, CLASS A	120	TON	\$35.00	\$4,200.00	\$1.00	\$120.00
39	STONE FOR EROSION CONTROL, CLASS B	130	TON	\$70.00	\$9,100.00	\$20.00	\$2,600.00
40	SEDIMENT CONTROL STONE	115	TON	\$55.00	\$6,325.00	\$15.00	\$1,725.00
41	TEMPORARY MULCHING	1	ACR	\$2,200.00	\$2,200.00	\$500.00	\$500.00
42	SEED FOR TEMPORARY SEEDING	100	LB	\$1.00	\$100.00	\$1.00	\$100.00
43	FERTILIZER FOR TEMPORARY SEEDING	1	TON	\$500.00	\$250.00	\$500.00	\$250.00
44	TEMPORARY SLOPE DRAINS	200	LF	\$2.00	\$400.00	\$5.00	\$1,000.00
45	SAFETY FENCE	320	LF	\$2.00	\$640.00	\$4.00	\$1,280.00
46	SILT EXCAVATION	170	CY	\$5.00	\$850.00	\$1.00	\$170.00
47	MATTING FOR EROSION CONTROL	7,500	SY	\$0.50	\$3,750.00	\$0.20	\$1,500.00
48	COIR FIBER MAT	100	SY	\$5.75	\$575.00	\$5.00	\$500.00
49	1/4" HARDWARE CLOTH	380	LF	\$6.00	\$2,280.00	\$2.00	\$760.00
50	SEEDING & MULCHING	3	ACR	\$1,000.00	\$3,000.00	\$350.00	\$1,050.00
51	MOWING	1	ACR	\$175.00	\$87.50	\$500.00	\$250.00
52	SEED FOR REPAIR SEEDING	50	LB	\$6.00	\$300.00	\$5.00	\$250.00
53	FERTILIZER FOR REPAIR SEEDING	0.25	TON	\$600.00	\$150.00	\$500.00	\$125.00
54	SEED FOR SUPPLEMENTAL SEEDING	50	LB	\$6.00	\$300.00	\$4.50	\$225.00
55	FERTILIZER TOPDRESSING	0.50	TON	\$600.00	\$300.00	\$500.00	\$250.00
56	SPECIALIZED HAND MOWING	10	MHR	\$45.00	\$450.00	\$125.00	\$1,250.00
57	RESPONSE FOR EROSION CONTROL	25	EA	\$4.00	\$100.00	\$10.00	\$250.00

				S T WOOTEN	CORPORATION		BA FRED SMITH IPANY
ITEM NC	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
58	CONCRETE WASHOUT STRUCTURE	2	EA	\$1,400.00	\$2,800.00	\$775.00	\$1,550.00
59	REMOVAL OF EXISTING STRUCTURE AT STATION 17+20.00 -L-	1	LS	\$36,500.00	\$36,500.00	\$79,000.00	\$79,000.00
60	ASBESTOS ASSESSMENT	1	LS	\$1,000.00	\$1,000.00	\$2,043.00	\$2,043.00
61	UNCLASSIFIED STRUCTURE EXCAVATION AT STATION 17+20.00 -L-	1	LS	\$20,000.00	\$20,000.00	\$9,000.00	\$9,000.00
62	CLASS A CONCRETE (BRIDGE)	59.40	CY	\$1,050.00	\$62,370.00	\$1,600.00	\$95,040.00
63	BRIDGE APPROACH SLABS, STATION 17+20.00 -L-	1	LS	\$30,000.00	\$30,000.00	\$35,754.00	\$35,754.00
64	REINFORCING STEEL (BRIDGE)	9,398	LB	\$1.50	\$14,097.00	\$3.00	\$28,194.00
65	PILE DRIVING EQUIPMENT SETUP FOR HP12X53 STEEL PILES	14	EA	\$5,550.00	\$77,700.00	\$900.00	\$12,600.00
66	HP 12 X 53 STEEL PILES	200	LF	\$50.00	\$10,000.00	\$35.00	\$7,000.00
67	STEEL PILE POINTS	14	EA	\$165.00	\$2,310.00	\$150.00	\$2,100.00
68	DYNAMIC PILE TESTING	1	EA	\$4,700.00	\$4,700.00	\$2,000.00	\$2,000.00
69	VERTICAL CONCRETE BARRIER RAIL	210	LF	\$166.00	\$34,860.00	\$230.00	\$48,300.00
70	RIP RAP CLASS II (2'-0" THICK)	249	TON	\$110.00	\$27,390.00	\$90.00	\$22,410.00
71	GEOTEXTILE FOR DRAINAGE	275	SY	\$4.50	\$1,237.50	\$2.00	\$550.00
72	ELASTOMERIC BEARINGS	1	LS	\$3,200.00	\$3,200.00	\$3,200.00	\$3,200.00
73	3'-0" X 3'-3" PRESTRESSED CONC CORED SLABS	1,115	LF	\$410.00	\$457,150.00	\$425.00	\$473,875.00
					§1 157 806 10		\$1 101 500 00

\$1,152,896.10

\$1,191,500.00

Bidder No. 1: SANFORD CONTRACTORS INC

Bidder No. 2: DELLINGER INC

Bidder No. 3: APAC ATLANTIC INC THOMPSON ARTHURDIVISION

Bidder No. 4: R E BURNS & SONS CO INC

Bidder No. 5: EASTERN STRUCTURES LLC

Bidder No. 6: SMITH-ROWE, LLC

Bidder No. 7: S T WOOTEN CORPORATION